INSTALLATION INSTRUCTIONS

KITCHEN FAUCET (WALL-MOUNTED)
5} PR e BR(BE =) 22830

D. Adaptor

2 P 1220150
Fe0)s Ti»
| Qr
| T ’
! C. Flange
B. Tube oR ) ‘ .

HkE . ‘ E. Gasket
Tube-nut J QR
KB ﬂ .

2 S 2 A. Mixer Body

A. Mixer Body ERERN
FESE A

NOTE: The available distance between two centers of wall water-outlet can be 122~178mm as Fig.2
shown.

JUitGEE F B K FLAR O EEREAE 122~ 178mmE - B R G LA S o A1 Fig.2 AR ©

1. Tear the protect membrane, then Insert Tube into Mixer body and tighten the tube-nut as Fig.1
shown.
MR ORFENR » ANRRFL KB TEARETEAR - 1 HRAHL /K ERIESA SR E 1 © 20 Fig.1 AR

2. Apply pipe compound or thread sealant tape to the thread of Adaptor 1/2" end, and screw it into

wall water-outlet. Cover Flanges onto both 3/4" end of Adaptors, then insert Gaskets into each
body-nut and screw the body-nut onto Adaptors 3/4" end and tighten fixed as Fig.2 shown.

TR IR /2" v A TR B A Y PHEEUAGIEEE KT SRR 2 24 S DA TR e 3/4" T
NIRRT 2 BB A RGN - Sl HORE AR IR IR SR E R A 2 3/4 TS SRR E 12 » 00 Fig.2 FIms

FIXING CONTENTS
FHECENZ

A. Mixer Body x 1 B. Tube x 1 C. Flange x 2 D. Adaptor x 2
[{EEEN ik e E L ST

S T o
oR S o

e . ot 'PUB9—-03—-ST95 ——
JUSTRIE | I5B$tt | ST SHeN TAI sRAssWARE CO. 0. www justime.com MADE IN TAIWAN

INSTALLATION INSTRUCTIONS

KITCHEN FAUCET (WALL-MOUNTED)
J5f P e H (B 2 0) 2 2ERst ]

D. Adaptor ;
T 2~y o

1 2

D~ @ - b
! B
B. Tube | e fii%ﬁn%? ©

HkE 'J ‘ E. Gasket
Tube-nut J CTE
KB ﬂ .

@i© A. Mixer Body

A. Mixer Body ERERN
FESE A

NOTE: The available distance between two centers of wall water-outlet can be 122~178mm as Fig.2
shown.

JUitGEE B R FLAR D EEREAE 122~ 178mmE - B RlE S LA S o A1 Fig.2 AR ©

1. Tear the protect membrane, then Insert Tube into Mixer body and tighten the tube-nut as Fig.1
shown.
MR ORTENR > ANBRRFL KB TE AR - 1 HRAHL /K ERIESA S E 1 © 20 Fig.1 FvR.

2. Apply pipe compound or thread sealant tape to the thread of Adaptor 1/2" end, and screw it into

wall water-outlet. Cover Flanges onto both 3/4" end of Adaptors, then insert Gaskets into each
body-nut and screw the body-nut onto Adaptors 3/4" end and tighten fixed as Fig.2 shown.

TR IR /2" v A TR B A Y PHEEUAGIEEE KT » SRR B 2 24 A S AR TR R 3/4 T
NIRRT 2 BB A RRIRNE - Sl R AR IR IR SR E R A B2 3/4 TS SRR e 1 » 00 Fig.2 FIms

FIXING CONTENTS
e HLERNES

A. Mixer Body x 1 B. Tube x 1 C. Flange x 2 D. Adaptor x 2
[{EEEN HKE i oSS

S I o
oR S o

. ‘ ot "PUB9—-03-ST95 —
JUSTRIE | I5Eft | ST SHeNG TI BRASSWARE CO. TD.  www_justime.com MADE IN TAIWAN




